
1,25^(8x-5) > 0,8^(3x+2)
(5/4)^(8x-5) >(⅘)^(3x+2) 
(5/4)^(8x-5) >(5/4)^(-3x-2)
8x-5 > -3x-2
11x > 3
X > 3/11

5^((x^2-3x-2)/(6-x)) >= 0,2
5^((x^2-3x-2)/(6-x)) >= 2/10
5^((x^2-3x-2)/(6-x)) >= ⅕
5^((x^2-3x-2)/(6-x)) >= 5^-1
(x^2-3x-2)/(6-x) >= -1
(x^2 -3x-2 + 6 - x)/(6-x) >= 0
(x^2 - 4x +4)/(6-x) >= 0
((x-2)^2)/(6-x) >= 0
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Otv: x E (-oo;6)

0.5^x>½
0,5^x >0,5^1
X < 1

Объединение
Совокупность [
Объединение 
нескольких условий в 
одну кучу = 
выполнение хотя бы 
одного из условий

Пересечение
Система {
Одновременное 
выполнение нескольких 
условий

|x|<3
{x > - 3
{x < 3

|x|>3
[X > 3
[X < - 3

X Э (-3;3)X Э (-oo;-3)U(3;+oo)


